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Unit 8 Quiz Review: Surface Area & Volume

On this quiz, you should be able to...

¢ Find the volume of prisms, cylinders, pyramids, cones, spheres, and composite figures.
e Use surface area and volume formulas to solve real-world problems.

pase -
1. Please find the surface area of the figure below.
\ V3 .
SA=2% +Ph W\
A) 855.07 ft* i
1733.07 ft2
C) 134247 fti o AT
D) 2625.68 ft — Iy +h g
P-8+ 133 h’ wo8
@-52>(h-30 h= 21,6
2. Please find the surface area of the figure below. SA= 2w 2wth
: 5 20 cm = 20 (20)% 4 2w (20X17)
@ 4647.2 cm I
B) 2960 cm? !ﬂ 2 2T (40) + 2w(340)
2
C) 2323.6cm = 2612+ 2136.2
D) 1480 cm?
= Yo4.2

3. Please find the volume of the cone (the diameter is 10 cm).

Elulat
A) 1256 cm® -1 2
B) 3768 cm® 50 3 1(5)°(12)
3
31 cem. < Lw(29)02)
D) 942 cm 10 cm
= 314
P sprert
4. Please find the surface area of a globe with a 24-inch diameter.
Lr=lad
@ 1808.64 in>  B) 7234.56 in’ C) 904.32 in’ D) 3627.28 in’
2
SA=YmY
2
=y (12)
= r(144)

= |809.b4

B=%bh
B4 (20)(®)
(f@ : so4 )
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5. Please find the volume of the figure shown%. 1 V:=Tr *h
14,2em : 2,
= w11 0%)
A) 11270.1 cm? w( )
B) 3589.2cm’ = ﬁ(;o.q\)(ﬂk)
(©)) 2817.5 cm? 17.8.cm _
D) 897.3cm’ = a8115

6. Agrain storage tank is called a silo. A silo is the shape of a cylinder covered by a
half-sphere as shown. The height of the cylinder is 50 feet and its diameter is 80

ft. Please find how much grain the silo can hold. (Vech) .
V eyinder: mr?h vphere: 4 qy?
A) 251200 ft* " .y
=Tr(40) (=0 s U
B) 13397.3 ft’ v "i‘ : 5(90)') £7(40) ——80 ft—
* 3 = 7 {600 ) L
22:1:2; :3 = 7261200 - %“—(ch“) TOHG) = 261 2004+ 13347154
| - = 2619461 = 3861134
+ 3
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7. Please find the volume of the figure?;ﬂ'lgm{%elow. 133673.35

- N3 Bh me
A) 144 cm? \ i Bu i lb
@ 48 cm® ‘ 3(%)“)

C) 156 cm’ - 4§ 6
D) 180 cm? 6 bh
B~ (9)(0)

8. Jon's favorite snack is Pringles. The container has a volume of 223 in®. The height of the can is 7 times the B3
radius. What is the radius of the can?

Nz TrrEh %= 3}16n9
S 03 (1) (7%) rz3.3m
h=1A @22 in 213 1 (16°) ;
D) 8in }}i )(3
i T
1646 %’

9. Arubber shell filled with air forms a rubber ball. The shell’s outer diameter is 65 millimeters, and its inner
diameter is 56 millimeters. Please find the volume of the rubber used to make the ball.

3 ~ guter: =334 \npev: =29
A) 143720.4 mm '
51814.7 mm® Ve S V= 3mid
C) 91905.7 mm® =4 a(328)° = %rr(sz)’
D) 34719.46 mm® 4 (21452)
=3 (34328.18) < d (248
= 14372043 = Q1905 11

Rubber = 143120.4 -41905. 1
= Gigit]



10. Kristin is ordering a circular cake for her party. The bakery labels the different cakes by the distance around
the cake, rather than by diameter. Kristin ordered a cake that measured 27 inches around. If the cake was 4

inches tall, please find the volume of the cake that Kristin ordered. Y Griumtrend = 27
V=mr*h & T
22413 in® 21 (43)*(w) o aky
. 232.2in’ )
- 2T YT
C) 116.12in’ = w(1844))
i’ ' r=4%
o) 22890n = 2322w’

11. Robbie brought cheese and crackers for lunch. The wedge of cheese he brought is shown below. Each side
of the cheese is 3 inches and it is l.Zéqinches tall. If there are 336 calories in this piece of cheese, how many B L bh
calories are there per cubic inch? VOluM& Bag : ) 3(2‘0)(3)
—_— 1 b

N:=bh A
- B- 3.
A) 1636.32 Cal/in® gl v-(34)0.2¢) 3/ M
B) 4.87 Cal/in® ‘ - 1 e
4875 '
(©)) 68.99 cal/in® P V=441 3
D) 59.7 Calfin® = ei3t
) alfin 336 cat + 4£TS = 684 @lfin? g
W+ 225 29
h>: 616203k
12. A sporting goods company sells tents in two styles, shown below. The sides and floor of each tent are made
of nylon. Tunnel: SA= 201%% 2arh
Pup: B4R = Ly P-g ks RUpiigt = Wnngtteng 220 09)% 20 (@)(¥)
-1 i r"P,;N-‘“ 8ft.-ll N, e, sam(ie) + 2w(32)
v %)((J.q) { / y
’ ’ ,j( &.) Lok S "'\/pq =100.4% + 20C.4
: (B-‘ZQ_.Q hatt Logy Bl o= = 3004453 = 16072
3 . N
. Which tent requires less nylon to manufacture? + Rettanguior baw area (©)()
AEE g sA= 2840 - 15070 to¥
h' 41664 | RNF - AL YeE,
b :2(216) + 2418) Thetunnet ®N (%A T Hl)
hebd O 5’;*-} nyien

QA =412 R

— A S — x

13. A steel water tank is a cylinder with a diameter of 30 ft and a height of 18 ft. To prevent rust, it is important
to keep them painted. If one gallon of paint will cover about 350 square feet, how many gallons of paint are
needed to paint the tank?

- Gurfau Gred SA = 2ar?y 2urh
ﬂ 22m(15)* 4 20 (1€)0%)
= 21 (225) + 2w (210)
hel€ P = 413+ 16456

Sh=3108.b ft°
= 360
380
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14. Mr. Butterworth baked a cake in the shape of a cylinder. The cake had a diameter of 9 inches and a height
of 5 inches He spread icing over the entire cake (except for the bottom). How much frosting did he use?

SA= 3 2+ dwrh < Reg A

_L'. ; .-.}.' .:_-'!';:.::_- .
i -.'-"3'-'3:-.’35;.353:-3-15 I CA g = TV anrh £ one bak missing
AT

AR -_.-}--..'pv

St 21 (s ) 5 2 (@5 )(S)

N TR T \sa= 364.91n* }

15. Find the volume of the figure shown below.

Tt Pyvamd V"s,%h Pristn: Ve Bh
_J’f_ V= 3000) w VOGS ) -
¥ ' TOTal Vol C = U854
| Q '-l%) 540
LI l ] ’ (=9 V= 549 F2
l .
[
et | B'—bh 3
F =N e P;-'bh .
6 ft ¢ B ) B=C1k)
Cp:a) B:30)
16. The surface area of an orange is 78.5 in’. Please find the approximate volume of the orange.
SA=Ywr’ M= S
€6 -4yt = 47 ()’

%8 = 1256y 2

%W(\S*_(;')_Q) = ‘66.‘4 n? {
=Y Y=38

17. How much air is needed to fill a standard basketball with a diameter of 7.2 inches?
Ve dr?
4w(sn)’?

v irr(tlet,sb) > [195.3wn? }

18. A pyramid is enclosed inside a prism. The pyramid and prism have equal base areas and equal heights. If
the volume of the prism is 60 m?, what is the volume of the pyramid?

Vpﬂsm : Bhy \l pyramd = %Bh IF the votume St prism= be the volume

60: By of the pyromid Ut be 3 S

Wy |1om*]

19. A cone shaped hole is drilled out of a hemisphere with a radius of 4.5 inches. Please find the volume of the

remaining solid. evo: Yol om M =ea
h-%’ SPh(YE _5\-" } e 3.“.', h
“dr(es) =4 nas)'45)
- T3mlans) =3 m(acas J4s)
r=45 - 366§
¢ &« (one
- \ =464
V= 88.) ehemigphere \oluE Remainyg = 1%8.3 454

\z qz.‘im*’




s R ot - Lh .
2 ilta_ = [ 2 hWal16 =2 - ;~ f’(;g)( %82) l/__\; !35(7'-"‘)(”
2 1€ 92hs. . e = |
s h*s 435 D he b : CB2105)

(1 - !
(Bt 35
20. Please find the volume of Fido’s doghouse.
THanguler Prsim: V= Bh Recranguiay Priwm s V= 8h
V= (169 )(4) V= (10.5)1)
NV=¢.76 vz 42

TOTAL VOl = b To + U2 = l%.%&t* ]

21. A pharmacist is filling medicine capsules. The capsules are cylinders with half spheres on each end. If the
length of the cylinder is 12 mm and the radius is 2 mm, how many cubic mm of medication can one capsule

hold (round answer to nearest tenth of a cubic mm)? e V: H_n.r& ,
. cg¥=2 -m2h 3 Tofal Voi= 336 +150.72
< ywder LR V-4
i e T (\z)) i3 < |§4.2mm’
2hem Wphefe— \ = e V- %n %)
Twhotesphere SO V=338
22. Acone has a diameter of 10 inches and a height of 12 inches. The height of the cone was stretched to 15
inches. What must the radius be if the new cone still has the same (one2:
volume? cone h=12
[
1 ) h=19
wnel s V= 3mr’h (one2: V= 3ur’h )
V=4m(s) %) 3i4=3u(e*) () r=5
V=3u()2) ELE 1t =7
! 157 \5\I V=314
=3t
W:r*

‘Y: y4Tn ’



